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QUESTION 1

Which of the following statements best describes a home PLMN? 

A. A network where a UE is currently registered and has a different PLMN ID from the UE\\'s PLMN ID 

B. A provisioned network that is shared by multiple operators 

C. A network where a UE is currently being served 

D. A network where a UE is subscribed 

Correct Answer: C 

 

QUESTION 2

Which of the following statements best defines S-TMSI? 

A. A permanent, unique identification of a mobile subscriber in the GSM/UMTS/EPS system. 

B. A network that provides mobile communication services to the public. 

C. A globally unique temporary mobile identifier used to hide the subscriber\\'s real permanent identity. 

D. An identifier assigned by the MME that uniquely identifies a UE within an MME pool. 

Correct Answer: C 

 

QUESTION 3

Given the exhibit, if GTP-C load control is used, which SGW will have the highest probability of being selected by the
MME for new session requests? 

A. sgw01 

B. sgw02 

4A0-M03 PDF Dumps | 4A0-M03 Practice Test | 4A0-M03 Braindumps                                2 / 3

https://www.passapply.com/4a0-m03.html
https://www.passapply.com/4a0-m03.html
https://www.passapply.com/4a0-m03.html


https://www.passapply.com/4a0-m03.html
2024 Latest passapply 4A0-M03 PDF and VCE dumps Download

C. sgw03 

D. sgw04 

Correct Answer: A 

 

QUESTION 4

Which of the following is NOT performed by the MME during S1-based handover procedure? 

A. MME determines if SGW relocation is required. 

B. MME selects the target eNodeB for handover. 

C. MME releases bearers that are not accepted by the target eNodeB. 

D. MME checks if the handover is to restricted area based on the handover restriction list. 

Correct Answer: C 

 

QUESTION 5

Which of the following MME interfaces uses a protocol OTHER than GTP-C or Diameter? 

A. S1-MME 

B. S11 

C. S6a 

D. SLg 

Correct Answer: A 

Reference: https://www.cablefree.net/wirelesstechnology/4glte/lte-interfaces/ 
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